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o Please answer all the questions.

o The percentage of score for each question is denoted in the parenthesis, and the total score is 100.

o There will be no credit without any meaningful explanation in your answers.

1. (25%) {a[Z8tEmsft (seignorage) ? (743)
B[ 75 1k E M 2 (a fiat system ) 2 F 0 SERETR AT MRS f M ZIREL (inflation tax ) ?
(6%)

T T SR = THIIRE EEEHE T B (store of value ) EH{EEI{ (unit of account) DA AL
ﬁJrU\ ( medium of exchange) o WP RE LSS SR THE R TR - @E LIE ??IH’JJJJ

TERIERREA o (12 43)

2: (7‘3%) H5E TS /N % (a small open economy ) » HEIAREE S 300 - Hi%
HEBS [ =400-20r » Hrf I SBH85%E - r BEEFPK -

() B R EPERISAS 10% » SRI/INE L BIHZ R » RSRIRGHLL ROP R LR R - (12

43)

() BEAMAREERRIEE 15% @ /N NRZ & IREREHE AL 2 (357)
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3. (25%) There has been a dramatic rise in oil prices in recent years. As a chief economist of a famous
commercial bank, you suppose to explain to your boss the likely effects of the oil price shock to the
macroeconomy in Taiwan. In your analysis assume the oil price increase is expected to be

temporary. Your explanations are based on two approaches:

(i) First, from undergraduate macroeconomic courses you know the short run aggregate supply
schedule for the economy as Y=Yy + a(P-P°), where Y is current real output, Yy1s the natural rate
of output, P is the current aggregate price level, and P*is the price level expected for the current
period. Use the imperfect-information model to explain this short run behavior of aggregate

~supply. Based on this theory, how would you explain the relationship between the price level

and real output supplied indicated by this equation to your boss? (15%)
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EXIE
o Please answer all the questions.
o The percentage of score for each question is denoted in the parenthesis, and the total score is 100.

o There will be no credit without any meaningful explanation in your answers.

3. (25%) There has been a dramatic rise in oil prices in recent years. As a chief economist of a famous
commercial bank, you suppose to explain to your boss the likely effects of the oil price shock to the
macroeconomy in Taiwan. In your analysis assume the oil price increase is expected to be

temporary. Your explanations are based on two approaches:

(ii)  Second, Real Business Cycle theory suggests the oil price shock has real effects to the
economy. Explain to your boss the Real Business Cycle effects on output, interest rates, the

price level, real wage rates, and the employment level in Taiwan. (10%)

4. (15%) Describe Friedman’s Permanent Income Hypothesis of Consumption. What effect will
rational expectations have on the behavior of consumption in this model? What are the implications

of this theory for the effects of a temporary reduction in taxes on consumption?

5. (10%) It has been well-known among economists that saving rates and growth rates are positively
correlated across countries. The positive saving-growth relationship implies that “high interest rates
are good for the economy because high interest rates stimulate saving, and saving stimulates

economic growth.” Do you agree with this statement? Why or why not?




